ekt k%

Discuss the characteristics of the Indian labour market. What are the reforms that are
needed to improve the state of employment in India and what do the four codes on
wages, on industrial relations, on occupational health, safety and working conditions
and on social security propose in achieving the labour reforms? (200 words) (Marks 15)

IS Hege HET € e §9 999 a9 993 few gEere ¥ U%3 FU9s TF3
foos moet & 83 & w3 335, Getfom AU, fagr fros, et 3 @ a1 TF'3
w3 FvE FEtwr € 99 a3 fext et @ yudt TRI & Fu feR oY
(200F5%) (e 15)

“Infrastructure inve-stmen@ne of the key pillars of sugtained _economic

deyelopment”. Critically Examine the recommendations of theT_as.l%inn. National
Infrastructure Pipeli‘r:e t? promote Infrastructure Investment in India. (1 words)jg'\"
|

3% (Marks 10 )
“Elenet g f5eR wrofax feam § aiew SuE TF wifow @y & fea 317
et TRETar T n@us3Hd fadivE a9 1 (100 FEe) (W 10)

Q3 P Explain the structure and state of th&_imme___;r_secr.pr in India. Present a critical analysis of

-’/’/

Q4

€ government proposal to privatise power distribution companies in the country via
the Electricity Amendment Bill 2020 and the Oraft Standard Bidding Document for
privatisation of Discoms. (200 words) (Marks 15)

F733 fev femst u39 o 083 w3 T fawrs a9 fa=s /o 58 2020 »3 fERaH
FUET ¥ fadtags v wi@ga3Ha fer®nE a9 (200 FET) (il 15)

Discuss the concepts of network trade and network_products. Critically analyse India’s

7 rformance in the manufacture and trade of network praoducts. Do wathat the

Covid-19 crisis has presented India with a unique opportunity to replace China as the
manufacturing hub of the world? (200 words) (Marks 15)

32T TUT w2 Aeeda §3ue’ ¥ Aamu 83 feue 391 dewea §3ue @ §3ust
w3 TUd THI I9I ¥ FJOgT O wEessSHa ferdaE 31 &t 307 ®Eer 9
afes-19 Faz % 9793 # P9 @ §3ues aed few S1x § eafana w9 o =fesq
Far yTTE &3 37 (200 FEY) (W 15)

Critically analyse the suspension of the Insolvency and Bankruptcy Code by the
Government of India in wake of the Covid-19 pandemic. (200 words) (Marks 15)
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dfeg-19 HoWSt T8 I93 FoaoT TTARBRH M3 Faourt & § WSS a9 T

r&ga3Ha ferdReE a3 1 (200 Faw) (Wi 15)
‘_&5/ Comment on the stance of the Indian Government on the regulation of Cryptocurrencies
in India. What are the advantages and disadvantages of Cryptocurrencies in the Indian
context? Discuss. (200 words) (Marks 15)
593 feu faudadry € fviaee fo3 993 Aowg € 9w 79 fodt feB1 IO @
Avgs fev fqudadrty @ &t ®9-uz s, fevw &91 (200 AEE) (md 15)

impacted and restricted the growth of other sectors ofthe economy, which resulted into
marginalization of the state’s economy. Examine this statement critically. (200 words)
(Marks 15)

@wmﬁam@émaﬁwwéﬂﬂwﬁﬁé%w&mﬁ%ﬁaﬁsw
?hﬁwqﬁgw%ﬂmwﬁmmﬁma@ fer Tus =
YHSAIHT feR®&FEE a3 | (200 HET)

% the post economig reforms-period, the slowdown of agriculture sector of Puniah has

(e 15)

v‘{/hplain that with Covid’s looming impact on the economvy, there is an urgent

need to increase skill imparting initiatives to hold onto India’s Demographic
Dividend. (200 words) (Marks 15)
Sfes & nigw feerg Qua ¥iET 90 USWT FaWY 393 ¥ “IHgfex faddE” arfew
Sur B O3 UTH 98 T8 nifgwrs Uge © 393 Age3 I feuw as)
(200 FEE) (mid 15)

ﬂ% Discuss the main aspects of the Atmanirbhar Bharat Abhiyan. What are the enabling
policy reforms and institutions that are needed to make thjs program a success?

Discuss. (200 words) (Marks 15)

wrIHfEgET 3793 Migns € Wy (Y I9E5 9| fer garaH o It et faod

At Forg w3 AREE @ #3 31 feed &1 (200 FEE) — (& 15)
‘ h.———'-'_--'

a viable and_sustainable solutien to the

%/ Is the consolidation of Public Sector Banks
Non-Performing Assels which are likely tf_gwmwd' due to the

problem of risin
CovidST9 crisis? Discuss. (100 words) (Marks 10)

f_____—-"f
mﬁamﬁwwﬁaﬁma&mmaﬁaéﬁgnmpmww
ﬁ:uaﬁnﬁé&a-mﬁaamaﬂnaﬁnﬁaﬂ.?nﬁwmda&?mam
(100 FET) (ni@ 10)
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b
&J Do you think that the refornffsﬂuznPohc?gh a law enforcement agency is one of the
bottlenecks in the internal security policy of India. Examine critically. (200 words)
(Marks 15)
?aﬁmamwmeﬂeﬁﬁuﬁwmmﬁmm
AIST € an3 fewmvt S few few 37 IR yhiE &9 mnum,

(E 15
Q.12 /Explain tp How is it posing challenge to the law enforcement agencies?
/What are the Couriter measures that India has taken in response to the cyber terrorism?
(200 words) (Marks 15)

99 TE T fenrfimr 33 T35 &Y TI6 TEAT EFAT Fany feg gEF fx¥ UR
FIT IJ7 wﬁmqemﬁmfﬁ?maﬁmaa}mﬁw
ot TR?  MReaTSHE Ut /51 (200 HEY) (& 15)

Often the causes of violent extremism are categorised into ‘push’ and pull factors and
overlooks the links between ‘individual’ and ‘community’ factors. Cr:ncafly examine the
individual and community factors which are useful to understand extremism in India?
(200 words) (Marks 15)

mwemmﬁm w3 TIg e#?aaﬂﬁaa?aﬁmﬁnma
E nmm@emas*ﬁmmaﬁafw | IATe § FHSE 03
%nmwmm&aa@ VoG -&'ﬂﬁnza%rlzﬁﬂgﬁn

? '\ H g %m_ (e 15)
Q,’;/ India has been strongly criticis ng s{ate spcm cross- horder terronsm W|th what
approaches India has been countering this type of terrorism. Give your opinion especially

in context of India’s nmghbuurs (200 words) . (Marks 15)

IV ©f FIyrst IS W' UTg nirdaere @ 3793 Ru3 fudt ager faor 3w e
emﬁmwﬁmsﬁmhﬁaﬁwfﬁwwﬁaﬁ*ﬁwalmfﬁm
mmmewﬁ%méﬁﬁaﬁefeen (200  mEe)

(i 15)
QZ Consider the following loan (in ‘000 Rs.) extended by various lending institutions.
ﬁ%mae@#mm@zmmmm@rﬁmmﬁa&m

fega
Public Sector | Small Finance Private |
Yearﬂ Banks Corporations Banks |
199394 | 2338 365.3 2834 |
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(i)
(ii)
(iii)

- K393} 183y
1994-95 301.8 484.7 4738 |
1995-96 (3032 _;ﬁsa.s—-__mu_ﬁé
1996-97 365.2 9928 &366 |
1997-98 416.4 1067.4 686.8
[——

Which of the three is the leading lender?

Y bl

lag

hat percentage of lending is extended by the private sector in the vearﬁsﬁ?-gs? ) s

If the total loan extended in the market is @m}n the year 1

@Eﬁdhen 35-

%<3
Q&1
(56 b
2392 §

lob1 ‘v
o £

71681

what percentage of loan is extirggd__h! the sources other than the above mentioned
(Marks 15)

three sources?

ey i e e Rz e ae 37 4 61D

1997-9% T F® fog fadit 439 & fad uItws aow fo3m
F 1995-06 T FH &% 10,000,000/~ uB Fa= fegr Ifewr /Y 37 Bus fouz 35
I3t T fewer 39 magt & fods yIms ae9 fe3?

R 3

Q.16 Based on the given data, answer the following questions:

fo3 wigs 3 waa3 36 fow FeE T weE fe:

(i)

283 4

(W& 15)

Village X Village Y
Average income (in Rs.) 1750 — | 1860
Standard Deviation of income (in Rs.) 100 — |81
Number of Employees 600 . | 500

in which Village is the variation in income greater?
What is the combined standard deviation of the Village X and Village Y put

together?

ﬁ}fﬁ'ﬂﬁjﬁﬁ'ﬂ'mﬁﬁ?ﬁ?lwriaﬂom&ﬁam
mnﬁhxﬁﬁhvﬁmﬁmmﬁéﬁﬁﬁ?ﬁa?

P-S

(Marks 7+8=13)



